There are 456 children in the school. 10 children
are off sick. How many children are at school?

| have 276 marbles. | lose 10 of them. How many
are left?

There are 124 birds in the tree. 10 more birds join
them. How many are there altogether?

There are 653 eggs in the box. 100 eggs are
added. How many eggs are there now?

| have 175 stickers. | get 10 more. How many do |
have now?



There are 756 cars in the car park. 1 car arrives.
How many cars are in the car park now?

There are 247 cars in the car park. 10 cars leave
and then 1 car arrives. How many cars are there
now?



